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( FRPM 4 (2000 6,000 o o o O
D+t
v Dh v Dh v Dh
% % % % % %
NO,27 2000| 0.00 | 2003(-0.15 | 2005|-0.25 | 1997 0.15 | 2004]|-0.20 | 1999 0.05 2040
NO,28 1999| 0.05 [ 2004(-0.20 | 2003|-0.15 | 1998( 0.10 | 2002|-0.10 | 2001(-0.05 2040
NO,29 2001|-0.05 | 2002(-0.10 | 2005|-0.25 | 1997 0.15 | 2004|-0.20 | 1998 0.10 2040
NO,30 1999| 0.05 [ 2001(-0.05 | 2003|-0.15 | 1997 0.15| 2002|-0.10 [ 1998 0.10 2040
NO,31 2002]-0.10 | 2002(-0.10 | 2007|-0.34 | 1998( 0.10 | 2005|-0.25 | 1999 0.05 2040
NO,32 2000| 0.00 | 2002(-0.10 | 2004|-0.20 | 1997 0.15 | 2003|-0.15 | 1998 0.10 2040
NO,33 1998| 0.10 [ 2002(-0.10 | 2003|-0.15 | 1997 0.15| 2002|-0.10 [ 1997 0.15 2040
NO,34 1999| 0.05 [ 2004(-0.20 | 2004]|-0.20 | 1999( 0.05 | 2003|-0.15 [ 2001(-0.05 2040
NO,35 1999| 0.05 [ 2002(-0.10 | 2003|-0.15 | 1997 0.15| 2003|-0.15 | 1997 0.15 2040
NO,36 1997| 0.15 | 2001(-0.05 | 2002|-0.10 [ 1998( 0.10 | 2001|-0.05 [ 1999 0.05 2040
VAN > 0%
A [2R-( L+ [2R-( h+t)]

2R
t

255




x|
]

QOO OO0

OO OO

o O O O

o O O O

© m3
1 3
10 14 16
P
XEAR=2.15(L02=<
= 0.96)=313 117
X X2 X3 >X X R )
9 1 21 16 2.4 6.1 2.03 08 [DR=257><0.96
10 2 25 16 238 6.9 2.30 12 =247
11 3 21 26 18 6.5 217 0.8 X R
12 4 25 16 27 6.8 227 11 %=215 [R=0.96
13 5 16 18 25 5.9 197 09 10.74 | 48
1074 | 48
29 6 28 38 20 8.6 2.87 18 [XEAR=231(102>
' 0.90)=323 139
27 7 21 20 21 6.2 207 01 [D,R=2.57>0.90
28 8 2.8 30 24 8.2 2.73 0.6 =231
30 9 25 2.8 2.3 7.6 253 05 ?:2.31 E=0.90
31 10 28 21 16 6.5 217 12 2311 | 90
1237 | 42
5 11 25 25 28 78 260 03 [XEAR=224(1.02>
0.92)=317 130
3 12 25 16 21 6.2 2,07 0.9
7 13 31 26 25 82 273 06 4Rf§'2éx°-92
9 14 25 18 27 7.0 233 0.9 '
10 15 038 21 21 5.0 167 13
11 16 12 25 12 49 163 13
14 17 12 16 20 48 1.60 0.8
15 18 25 16 25 6.6 2.20 0.9
16 19 25 2.2 3.7 8.4 2.80 15 ?:2.24 E=0.92
18 20 16 22 25 6.3 2.10 09 4484 | 184
2173 | 94
5-5-10-20-20
21 40
20
d, A, D,
2] 113 | 188 | 327
STA 3] 169 | 102 [ 257
41 206 | 073 | 228
5] 233 | 058 [ 211
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X-Rs-Rm

OQOOOOO OO (@] OO
OO O OO (@] OO
/mm2 75m3 cooo
O O O O
N/mm2 o o o o
OO O O O O O
X=+E, Rs = 37.0+£266><29
=447 293
alblcldl| = X Rs Rm D, Rs = 327>29=95
9. 29[ 1 [38]36]36 110 | 367 2 D, Rm = 2.57>3.8=9.8
30 2 [41l41]40 122 | 407 4.0 1
10. 3| 3 [37]41]41 119 | 397 1.0 4 X Rs RmM
7 4 393440 113 | 377 2.0 6 X =3701 Rs=2.9 | Rm=38
8| 5 [28]28]34 90 30.0 7.7 6 184.8 | 147 19
184.8 | 147 19
X=E, Rs = 36.6+2.66><3.3
=453 278
10. 9] 6 [35[34]35 104 | 347 4.7 1 D, Rs =327>=33=10.8
10l 7 [35]30]36 101 | 337 1.0 6 D, Rm = 2.57>4.0=10.3
11] 8 [37]38]43 118 | 393 5.6 6 X =36.6 | Rs =3.3 | Rm=4.0
2925 | 26.0 32
107.7 | 11.3 13
X=E, RS = 36.4+2.66><3.6
10. 16] 9 [30]30[31 91 30.3 9.0 1 =460 268
17| 10 [37]37]37 111 | 370 6.7 0 D, Rs =327>=36=11.8
25 11 [39]42] 38 119 | 397 2.7 4 D, Rm=257>=34=87
27| 12 383835 111 | 370 2.7 3 X =364 | Rs=3.6 |IRm =3.4
28] 13 [35([ 3639 110 | 367 0.3 4 4732 | 474 44
180.7 | 214 12
10. 29| 14 [40[35] 39 114 | 380 13 5 X=E, Rs = 36.82+2.66><3.1
31| 15 [33[34]37 104 | 347 33 4 =450 286
11. 8| 16 [38]36]39 113 | 377 3.0 3 D, Rs =327%=31=10.1
10] 17 [38]37]42 117 | 390 13 5 D, Rm = 2.57>=35= 9.0
11| 18 [ 3842138 118 | 393 0.3 4
12| 19 [41]38]40 119 | 397 0.4 3 X =36.8 | Rs =3.1|Rm =35
13[ 20 [36[34][35 105 | 350 4.7 2 7366 | 617 70
2634 | 143 26
n d, D, E,
2 113 | 327 2.66
3 169 | 257 1.77
4 206 | 228 1.46
5 233 | 211 1.29
__ 5-3-5-7-10-10-10
20 x 1 10
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